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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

(Z=IE! oAl e BeS A )

1. Choose the appropriate answers from the
choices given against each : 1x10=10

e [RTenEe ¢ ug Teh AR Bfeedt ¢

(@) Providing information to top
management is ——  of
financial management.
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T [ IpiETe VST ©Y (IS L=Io K€

AR —— |

(i) recurring function
chassfs I

(i non-recurring function
Creiney et

(iii) routine function
=

(iv) advisory function
o

(b) Financial leverage refers to which of
the following ?

8 e Rste @Rt g ¢

(i) The use of debt to pay dividend.
segied [Re9IT A W /Y|
(ii) The wuse of fixed income

securities to meet deficiency in
dividend payment.

epied Resde A 2Fe4= g 2
e Afogfes IR |
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(c)

(ii) The wuse of fixed income
securities to increase the EPS.

EPS I0RA AR TR Se Afoefed
IR

(iv) The use of equity to increase the
EPS.

EPS 3I0IRT AT 3Hab 1|

Capital budgeting is a part of
AL ACTOT o1 ORH D

(i) investment decision

R fras

(ii) working capital management

IS T ARG

(iij) capital structure
T el

(iv) dividend decision

Ten [t Prars
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(d)

Under Net Present Value method, a

project is accepted when present
value (PV) of outflows is

present value (PV) of inflows.

‘{(3 IS I (Net Present Value)
J o QB! oA A Tt 77 (FoT A9 7R
AR TSN o7 79l 47T S9N ISHA

oL |

(i) more than
Q@ =

(ii) less than
A

(iii) equal to
AT

(iv) None of the above
85gq bI8 Ty

“When profitability index exceeds
one, the proposal is rejected.”
(State True or False)

“Q@fSA profitability index 93X ¥ =
CofSq eiws A= I 9= |
(8% @ o5 Crmy )
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(9)
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Optimum Capital Structure refers to
the debt-equity mix where —

gy EreE MAW 3T I ¢ TR G2
s JroRl @ I8 —
(i) debt is higher than equity

A TR e

(ii) equity is higher than debt
A YT WfEd =/

(iiij) the firm’s cost of capital is
minimum and value of the firm
is maximum

AV R T AT W O
AfSHing o it =

(iv) All of the above

B AGIZCFI5!

The higher the degree of financial
leverage, the greater is the financial
risk.

(State True or False)

8 freier e e o e =
8 Remiss Fiez 3@
(9% 7 g% @Y ¥ )
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(h) Which of the following is a part of

Q)

financial decision-making ?
ool WU e frate g o e

(i) Investment decision

e Fae

(i) Financial decision

e Frars
(iii) Dividend decision
sonied Rfeead Frare
(iv) All of the above

8o HIGIF26!

Current assets are twice the current
liabilities. If the working capital is
Rs. 20,000, current assets would be:

ofore Aif€ sfere omim 42 @4 =1 Tl
JILFF TN 20,000 T/ W, (ST Hlere
TifeT sifKsnd = 3
(i) Rs. 10,000

10,000 T

(i)  Rs. 40,000
40,000 B
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0
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(iij) Rs. 80,000
80,000 51

(iv) Rs. 20,000
20,000 =

Earning per share (EPS) is calculated
as :

frxie (@0 S@E EPS 4T 311 =1 3

(i) (Earning available to preferred
and equity shareholders)

( Number of preferred and equity
shares outstanding)

(TAEPIYE S 2P0 AHIUTFT
i) 1Y)

(TIPS W% 32T AT
R TARTNES )

(ii) (Earnings available to equity
shareholders)

(Number of equity shares
outstanding)

(2336 YR ol o)
(3326 S=isiam WA SoAfRrNEe)
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| (d) State the sources of finance.

a3 Sorrm Sme w4

(iii) (Profit available to shareholders)

(Market price per share)

(T 4TS 2ol FS)

(T ofS T@E 1) ; (e) State the meaning of accounting
rate of return.

(iv) (Earnings to shareholders) TR BBINT (accounting) TR @
foral |

(Number of shares issued to

promoters and sharcholders) ' 3. Answer any four of the following
(TIRHAGURFT Alel] o) questions in about 150 words each :
" Sx4=20
g;tm‘ffw* “;"‘* ST R SR R S1A5 2R TSR e 150 B
A g foote Tew 341 ¢
2. Answer the following questions in about (a) State the limitations of financial
50 words each : | 2x5=10 management.
& ARGIEAR MaRTOrHR S w411

50 B *771 fouse Rraie «AfSwl exig Tes fwa 3

(a) What is cost of capital ? (b} Discuss the use of Internal Rate of

T gu R e Return (IRR).

(b) Define ‘Operating Leverage’. R SR g9 I WE TR W IS
ol Breiceem k@ | AT P

(¢) What is capital structure ? (c) What is stock dividend ? Why is it
Wﬂ sﬁqﬁ ﬁs o issued ?

B @oH & ¢ 3w Jw Rfe o1 =me
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(d) Explain Profitability Index Method.

(e)

1]

Profitability Index Amfe] g |

Ritika Ltd. issued equity shares of
Rs. 100 each at a premium of 20 per
cent. It paid a dividend of 20 per cent
to its shareholders. Calculate the
cost of equity capital if the annual
growth of dividend is 10 per cent.

RS Ffce® @ 100 5= ER AMX 20%
R Tre R @I @R
AN T 20% IO =g [eqd
@) T AT Toed 3HI AT 10% |,
(O AN R I I et )

Or / ge<t

Discuss five leading determinants of
working capital of a firm.

afSdim R FIEA  TEEI AR
iR 5! g Tetmm eS|

Write a note on Optimum Capital
Structure.

&4 Toie NI sogs @61 GBIl |
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4. Answer the following questions in about
600 words each : 10x4=40

%%o%tw%wﬁmﬁﬁ%cﬁmw

(a) “Financial management is
concerned with the solution of
three major decisions — financing,
investment and dividend”. Explain
the statement highlighting
interrelationship amongst these
three decisions.

“feln ARerEm—Re, [N = sone
T SRt Paiee  smigee e
wiee |’ 93 fofRo1 Faes =i T3
o R Coiare [T i 1)

Or / 5l

Discuss the scope and functions of
financial management.

78w ARvIemR AT W% ST I
col ,
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(b)

(c)

Discuss the various methods
followed in capital budgeting.

e Aces oFe N Rfew afomz
wiTEsa I |
Oor /a4l

Elaborate the determinants of capital
structure of a corporate entity.

@51 Rorw 2f SR T hAR [effas Raw
A Teiimeie IR

Define Working Capital. What

considerations are taken into

account in estimating the amount of

working capital requirement in a

newly started company ?

TP @ W®@ T wga @
GBS FAFI L Faole seRice & &
fArapa sRawfm =3 ¢
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(@)

Or/we3ar

Financial management can use
dividend policy to maximise the
wealth of equity holder. Explain with
suitable example.

AR T AW T (Fae {6
HARBIE Topi Sl A IRI AR

Toge TR 30 9|

Explain the relationship between
operating leverage and financial
leverage.

Hery foeiEe o Reln Feiees
ARIRE T JIR T4 |

Or /&4l

A firm is considering the purchase of
a machine. Two machines A and B
are available, each costing
Rs. 50,000. In comparing the
profitability of those machines a
discount rate of 10% is to be used.
Earning after taxation are expected

to be as follows :
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<5 AfSHH a6t @A T TR Reval
ez AfSE R Rs. 50,000 &< 1B
GBS A SI% B IEIS© SR HEAG (IoaR
e TG wIO! et FETS 10% AT
(Discount rate) &1 tx(2| 9 Five1 AT
e AP ASFIfe oY weTe Ml 4949 ¢

Year| Machine A | Machine B P.V. Factor

Cash Flow | Cash Flow @10%
(in Rs.) (in Rs.)

1st 15,000 5,000 0.909

2nd 20,000 15,000 0.826

3rd 25,000 20,000 0.751

4th 15,000 30,000 0.683

Sth 10,000 20,000 0.621

Evaluate the projects using payback
period and Net Present Value
method.

(A-3% (IfRTe =% NPV o1%fSt esmmz
TEE 4 |
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1.
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"OPTION-B
Paper : COM-RE~ 5066
(Indirect Tax Laws)

Full Marks : 80

Time : Three hours

The figures in the margin indicate

full marks for the questions.

Answer either in English or in Assamese.

(1% GLRt SIS TeF )

Answer the following as directed :

1x10=10

Aot wore il eI el fodl ¢

@)

Indirect taxes are imposed on goods

and — .
[ Fill in the blank with appropriate
word/words |

JTEF I IE TR 3 @oge i)

9 =7
(A HZ GRS 19T 77T F9)
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(i) Excise duty is levied on the
manufacture of excisable goods in
India.

[ State whether the statement is true
or false]

OOINT FIHIRT T I Teo_
89¥S PNt 9 4 9 T} |
(Cfeesr 9% @ won Gy 79)

(iii) Customs area means the area of a

[Fill in the blank with appropriate

word/words ]
FIBY ST e (2R G J G |
(C7g& T e HE 959 7)

(iv) GST was introduced in India with
effect from 1st April, 2017.

[ State whether the statement is true

or false]

OIRO® 2017 579 AR e ©ifw o/
GST IR w11 27 |
(Cfeeehr v% @ w5 Gy 39)
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(v) GSTIN is a unique —— digit
number.
( Fill in the blank with appropriate

word/words |

GSTIN T'§ G5 ———— AT o) 791 |
(GoT i N 52 279 70)

(vi) Customs duty is levied by State
Government.
[ State whether the statement is true

or false]

I I ey 5IFIT B[ NI 9 S|
(et ©% @ ST Gy 391)

(viij ———— is the first country to
implement GST in the year 1954.
[Fill in the blank with appropriate
word/words |

' 4ANda o RTT 1954

5% GST T SRfeE |
(BoAge *~mT e HZ 7439 F9)

4 (Sem-5/CBCS) COMRE 5/RE 6/G 17 Contd.



(viii) The

(i

(x)

is the Chairperson of
the GST Council.
[Fill in the blank with appropriate

word/words]

GST Council ¥ GTINTN = |
(CoAgE I AT HT 2499 F)

GST network is a Government
organization.
[ State whether the statement is true

or false |

GST network 4Gl 53T HWIHA |
(Cf&ehr o% @ wom Srmy 34)

Under GST, a registered person is
not a taxable person.
{ State whether the statement is true

or false]

GSTI v iR, quw Regee fe
I IS 27 |
(Sf&eo! 9% @ wogm T 79)
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Answer the following questions

: 2x5=10

woTe Al eMItRIR] Tes fodl ¢

(i)

(ii)

(iii)

(iv)
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What is Value-Added Tax ?

Te-RCAMre 39 N & =72

Explain the term ‘Manufacture’

under Central Excise Act.

FE ARSIR Wiz e TeAm’
Aol A ]|

What is ‘Safeguard Duty’ under the

Customs Act ?

I Wiz e Raore og W &
=3 ?

What is Input Tax Credit ?

TS0 ONY (RS W [ @
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v)

Mention any two salient features of
GSTN.

GSTN= Rt b1 Srade@iey  [Ee
T |

Answer any four questions :

Rcwat bifebt e el o ¢

(i)

(it)

(iii)

5x4=20

Briefly: explain any five features of
Indirect taxes.

AT 399 Repiear oy ey oL T
34|

Write a short note on valuation of
excisable goods.

SIS FICN IE NS 89S 53 (B
o

State any five objectives of enactment
of Customs Act, 1962.

IV A3, Sou: TR IR R[ear ooy
Sow fEat
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(iv) Briefly explain any five salient

(v)

(v

features of Goods and Services Tax.

[ YR ORI ] R it Sradc@iey
a1 LF [ T

Explain the concept of Tax Invoice
under section 31 of the CGST Act,

2017.

CGST i34, 2017 T 419t 31-F GfiF© I
BIERR 4IRS g 90

Write a brief note on the Threshold
Limits for Registration under GST.

7.97.B7 wfiqe fgaR i A T
GO GO 1 |

Answer the following questions :10x4=40
eTe Al eMIRY Teg A ¢

(i)

Describe the history of Indirect taxes
in India.

CISITS QT 99 OYA 091 T |
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(ii)

Or / ©I%<t

What are the general principles of
Value-Added Tax ? Explain the scope

of Input Tax Credit under VAT.
5+5=10

w—mmf@ﬁwmmﬂm%ﬁs ?

TR T S Eo e RO
(o5 ARFE JRN T4 |

Describe in brief, the history of
Central Excise Law in India. 10

SREIT (W GRFIT o oA
LS I T

Or / 9a}

Write brief notes on the following
terms under Central Excise Act :
5+5=10

FEE SR S afTe wee W
=S [ sl (G ol

(a) Excisable goods

AT FICTN =
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(iii)

(iv)
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(b) Manufacturer

TeoAms

Explain the various types of custom
duties. 10

RfST 471 IIBT TR T 40|

Qr(@‘@?ﬁ

Briefly explain the following terms
under the Customs Act, 1962 :

5+5=10
T Wiz, 19627 WS wero frl
AT S Pt I 8

(a) Baggage
AT

(b) Anti-dumping duty
9f5-Tif 9%

Describe the history of Goods and
Services Tax in India. 10

Tigedfe qg O CRI I e 394l
-4l |
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Oor /9t

What is composition scheme in GST ?
Mention any five persons who are not
eligible for composition scheme.

5+5=10
GST-3 wfiMe FCiferm H & =2
FCAIREPR FE AR @) T G\ A
$979 Jf& Trad 90
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